Complete the following statement:  When a net torque is applied to a rigid object, it always produces a…..

a)  constant acceleration

b)  rotational equilibrium

c)  constant angular velocity

d)  constant angular momentum

e)  change in angular velocity

e) is correct.  
A change in angular velocity of an object is produced by a net

a)  force

b)  torque

c)  rotational inertia

d)  moment arm

b) is correct.  

What kind of motion does a constant, non-zero torque produce on an object mounted on an axle?
a)  Constant rotational speed

b)  Constant rotational acceleration

c)  Increasing rotational acceleration

d)  Decreasing rotational acceleration

e)  Constant centripetal acceleration

b) is correct.

If a significant number of students do not answer one or more of these questions correctly, more discussion of the definition of a torque will be needed.  The whirligig demonstration is useful to show that a constant torque will clearly produce a changing angular velocity.  In addition, more time should be spent on “torque beam”, “torque meter”, and “push of war” demonstrations.

